Mc))
MERTSAN®

rUMP

MTS-145N

381

354

177

204

426

182

9
@@

5 |
O,

@ O
O\© ©

299

KOD/CODE MTS-145N

DEBI (LT./DAK.)
FLOW (LT./MIN.)

DEVIR(D./DAK.)
SPEED(R.P.M)

GUC (HP)
POWER

PISTON
PISTON

BASINC (BAR)
PRESSURE
YAG CINSI
OIL TYPE

YAG KAPASITESI (LT.)

OIL CAPACITY

OLCULER(CM.)
DIMENSIONS

AGIRLIK (KG.)
WEIGHT

145
540
18

A
50
20W50
2.0

4T7x40x42

47.25

www.mertsanpump.com



o)

0
3
p
n

2
$é o
nt <
_I.
x 2
n =
s

51

£
(@)
(&)
S
£
>
o
c
©
@
o
E
3
3
=




Ne | URUN KODU / PRODUCT CODE AGIKLAMA / DESCRIPTION OLGULER / DIMENSIONS | ADET/ QTY
1 MTS-145 N/1 iMBUS CiVATA / SCREW 2 M10x16 3
2 MTS-145 N/2 PUL / RONDELA 210 MM 3
3 MTS-145 N/3 SAFT MUHAFAZASI / CARDAN PROTECTION 1
4 MTS-145 N/4 VANA / VALVE G %" 2
5 MTS-145 N/5 PIiRING DAGITICI / BRASS DISTRIBUTOR @ 24x16 1
6 MTS-145 N/6 iMBUS CiVATA / SCREW @ M10x30 40
7 MTS-145 N/7 KOR TAPA (METAL) / BLANKING TAP (METAL) 2 12x21 1
8 MTS-145 N/8 MANIFOLD KAPAGI / MANIFOLD COVER 1
9 MTS-145 N/9 ORING / O-RING 2196.44x3.53 1
10 MTS-145 N/10 ORING / O-RING 2120.32 x2.62 1
1 MTS-145 N/11 KEGE / SEAL @ 40x60x10 1
12 MTS-145 N/12 TIRTIKLI PUL / RONDELLA 28 MM 1
13 MTS-145 N/13 TUP SiBOBU / AIR TUBE VALVE 1
14 MTS-145 N/14 ORING / O-RING 2007.59x2.62 1
15 MTS-145 N/15 iMBUS CiVATA / SCREW @ M8x45 8
16 MTS-145 N/16 PUL / RONDELA 2 8 MM 8
17 MTS-145 N/17 FIBERLi SOMUN / FIBER NUT 28 MM 8
18 MTS-145 N/18 HAVA TOPU UST KAPAGI / AIR TUBE UPPER ACCUMULATOR 1
19 MTS-145 N/19 HAVA TOPU i¢ LASTIK / AIR TUBE INNER LASTIC 1
20 MTS-145 N/20 HAVA TOPU iG PLASTIK / AIR TUBE INNER PLASTIC 1
21 MTS-145 N/21 HAVA TOPU ALT KAPAGI / AIR TUBE INFRA ACCUMULATOR 1
22 MTS-145 N/22 DEMIR NIiPEL / NIPPLE (STAINLESS) G %" 1
23 MTS-145 N/23 EMNIYET VALFi / SAFETY VALVE G %" 1
24 MTS-145 N/24 ORING / O-RING 2 021.00x3.00 1
25 MTS-145 N/25 YAGDANLIK GOVDESI / OILCAN 1
26 MTS-145 N/26 ORING / O-RING ©71.44x3.5 1
27 MTS-145 N/27 YAGDANLIK KAPAGI / OILCAN COVER 1
28 MTS-145 N/28 (SU GiRigi) DIRSEGI / HOSETAIL FOR FLY NUT G2" @ 40x47 1
29 MTS-145 N/29 ORING / O-RING 2 040.95x2.62 2
30 MTS-145 N/30 (SU GiRigi) DIRSEK SOMUNU / LOCK NUT G2" 1
31 MTS-145 N/31 NIiPEL / NIPPLE 1
32 MTS-145 N/32 ORING / O-RING @ 032.00x3.00 1
33 MTS-145 N/33 GOVDE / CRANKCASE 1
34 MTS-145 N/34 AYAK / PUMP MOUNTING STAND 2
35 MTS-145 N/35 RULMAN / BEARING 3208 1
36 MTS-145 N/36 PLASTIK PUL / PLASTIC WASHER ?58x13.5 1
37 MTS-145 N/37 KRANK PULU / CRANK WASHER 240x4 1
38 MTS-145 N/38 RULMAN / BEARING 6911 1
39 MTS-145 N/39 BILEZIK / RING 210.10x93 2
40 MTS-145 N/40 KRANK / CRANK 1
41 MTS-145 N/41 KRANK PULU / CRANK WASHER @ 55.5x4 1
42 MTS-145 N/42 PLASTIK PUL / PLASTIC WASHER @ 50.5x25 1
43 MTS-145 N/43 RULMAN / BEARING 6311 1
44 MTS-145 N/44 ORING / O-RING 2196.44x3.53 1
45 MTS-145 N/45 ORING / O-RING 2 158.42x2.62 1
46 MTS-145 N/46 ORING / O-RING 2120.32x2.62 1
47 MTS-145 N/47 KEGE / SEAL @ 55x72x8 1
48 MTS-145-N/48 MANIFOLD KAPAGI / MANIFOLD COVER 1
49 MTS-145 N/49 SEGMAN / PISTON RING @72 MM 1
50 MTS-145 N/50 GOZLUK / PLUG 8
51 MTS-145 N/51 ORING / O-RING @45x2.5 8
52 MTS-145 N/52 ORING / O-RING @ 36.10x3.53 8
53 MTS-145 N/53 SiBOP KROMU / VALVE CHROMIUM 8
54 MTS-145 N/54 SiBOP PULU / VALVE WASHER 8
55 MTS-145 N/55 SiBOP YAYI/ VALVE SPRING 8
56 MTS-145 N/56 SiBOP KAFESI / VALVE CAGE 8
57 MTS-145 N/57 iMBUS CiVATA / SCREW @ M12x65 8
58 MTS-145 N/58 PUL / RONDELA @12 MM 8
59 MTS-145 N/59 MEMBRAN KAPAGI / MEMBRANE COVER 4
60 MTS-145 N/60 ORING / O-RING @ 021.00x3.00 4
61 MTS-145 N/61 ORING / O-RING @ 028.00x3.00 4
62 MTS-145 N/62 MEMBRAN PULU / MEMBRANE WASHER 4
63 MTS-145 N/63 MEMBRAN LASTIiGi / MEMBRANE RUBBER 4
64 MTS-145 N/64 MEMBRAN CiVATASI / MEMBRANE SCREW 2 12x30 4
65 MTS-145 N/65 SEGMAN / PISTON RING @70 MM 4
66 MTS-145 N/66 PiSTON / PISTON 4
67 MTS-145 N/67 PERNO / PERNO 4
68 MTS-145 N/68 SEGMAN / PISTON RING 218 MM 8
69 MTS-145 N/69 GOMLEK / PISTON SLEEVE 4
70 MTS-145 N/70 BIiYEL KOLU / CONNECTION ROD 4
7 MTS-145 N/71 iMBUS CiVATA / SCREW @ M12x40 1
72 MTS-145 N/72 TUP SiBOP KAPAGI / AIR TUBE VALVE COVER 1

www.mertsanpump.com




